
MATHS

BOOKS - TELUGU ACADEMY MATHS (TELUGU ENGLISH)

PRACTICE MODEL PAPER-5

Vsaq

1. If  is a surjection defined by 

 then find B.

Watch Video Solution

A = {0, , , , } and f : A → B
π

6

π

4

π

3

π

2

f(x) = cos x

2. Find the domain of the real function 

Watch Video Solution

f(x) =
1

log(2 − x)

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_FQu8enfJiAqT
https://dl.doubtnut.com/l/_obwECZGI0Puk
https://dl.doubtnut.com/l/_MH3OAYU1pZ1A


3. If  then find the values of x , y

z and a .

Watch Video Solution

⎡
⎢
⎣

x − 1  2 5 − y

 0 z − 1 7

 1  0 a − 5

⎤
⎥
⎦

=
⎡
⎢
⎣

1 2 3

0 4 7

1 0 0

⎤
⎥
⎦

4. If  det A = 45 then find x.

Watch Video Solution

A =
⎡
⎢
⎣

1 0 0

2 3 4

5 −6 x

⎤
⎥
⎦

5. Find a vector in the direction of vector  has magnitude 7

units.

Watch Video Solution

ā = ī − 2j̄

6. If the position vectors of the points A,B,C are 

 respectively and −2 ī + j̄ − k̄, − 4 ī + 2j̄ + 2k̄, 6 ī − 3j̄ − 13k̄

https://dl.doubtnut.com/l/_MH3OAYU1pZ1A
https://dl.doubtnut.com/l/_WPMFK8EcLcfe
https://dl.doubtnut.com/l/_247BppisnnSr
https://dl.doubtnut.com/l/_YFd4gITgcObG


 then find the value of .

Watch Video Solution

¯̄̄ ¯̄¯AB = λ¯̄̄ ¯̄¯AC λ

7. If  then find the projection vector of 

on  and its magnitude.

Watch Video Solution

ā = ī − j̄ − k̄, b̄ = 2 ī − 3j̄ + k̄ b̄

ā

8. If  then S.T 

Watch Video Solution

cos θ + sin θ = √2 cos θ cos θ − sin θ = √2 sin θ

9. Find the period of  (n any positive

integer)

Watch Video Solution

tan(x + 4x + 9x + ....... + n2x)

https://dl.doubtnut.com/l/_YFd4gITgcObG
https://dl.doubtnut.com/l/_SAN6IjnUPJWc
https://dl.doubtnut.com/l/_4dkAhRVEsH6D
https://dl.doubtnut.com/l/_Dlse6ZXiFf1e


Saqs

10. Prove that 

Watch Video Solution

(cosh x − sinh x)n = cosh(nx) − sinh(nx)

1. Show that the matrix  is non-singular and find .

Watch Video Solution

A =
⎡
⎢
⎣

1 2 1

3 2 3

1 1 2

⎤
⎥
⎦

A − 1

2. If ABCDEF is a regular hexagon with centre O , then P.T

Watch Video Solution

¯̄̄ ¯̄¯AB + ¯̄̄ ¯̄¯AC + ¯̄¯̄¯̄AD + ¯̄̄ ¯̄¯AE + ¯̄̄¯̄¯AF = 3̄ ¯̄¯̄¯AD = 6̄ ¯̄̄ ¯̄AO

3. If  then prove that .ā + b̄ + c̄ = 0̄ ā × b̄ = b̄ × c̄ = c̄ × ā

https://dl.doubtnut.com/l/_Pfqfwnze93MC
https://dl.doubtnut.com/l/_yVRjwDtdNWzQ
https://dl.doubtnut.com/l/_kKsACn0v8z7a
https://dl.doubtnut.com/l/_qeNDJh5aAX05


Watch Video Solution

4. Show that 

Watch Video Solution

sin4. + sin4. sin4. + sin4. =
π

8

3π

8

5π

8
7π

8

3

2

5. Solve 

Watch Video Solution

sin x + √3 cos x = √2

6. Prove that 

Watch Video Solution

sin− 1 + sin− 1 = cos − 13

5

8

17

36

85

7. Show that 

Watch Video Solution

r1 + r2 + r3 − r = 4R

https://dl.doubtnut.com/l/_qeNDJh5aAX05
https://dl.doubtnut.com/l/_2AxUK6ld33ao
https://dl.doubtnut.com/l/_uJB7TaXbNYCx
https://dl.doubtnut.com/l/_VeZMxogD56wg
https://dl.doubtnut.com/l/_wXs3PRABrxY8


Laqs

1. If  are two bijective functions then P.T 

Watch Video Solution

f : A → B, g : B → C

(gof) − 1 = f − 1og− 1

2. Statement -I:  is one -one and  is a one-one

function, then  is one-one 


Statement-II: If  are two functions such that gof

 and , then . 


Statement-III: , then

f=g. Which of the above statements is/are true:

Watch Video Solution

f : A → B g : B → C

gof : A → C

f : A → B, g : B → A

= IA fog = IB f = g − 1

f(x) = sec2 x − tan2 x, g(x) = cosec2x − cot2 x

3. Using the principle of Mathematical Induction, show that

 is divisible by 11, 2.42n + 1 + 33n + 1 ∀n ∈ N

https://dl.doubtnut.com/l/_k8KoZEu85FDs
https://dl.doubtnut.com/l/_jnBsBpkIzH7i
https://dl.doubtnut.com/l/_pDZQ5COhBBBO


Watch Video Solution

4. Show that 

Watch Video Solution

∣
∣
∣
∣

a − b − c   2a   2a

  2b b − c − a   2b

  2c   2c c − a − b

∣
∣

∣
∣

= (a + b + c)
3

5. Solve the following system of equations by using Cramer,s ruel . 

Watch Video Solution

3x + 4y + 5z = 18, 2x − y + 8z = 13, 5x − 2y + 7z = 20

6. If

then find distance between 

Watch Video Solution

A = (1, − 2, − 1), B = (4, 0, − 3), C = (1, 2, − 1), D = (2, − 4, − 5)

¯̄̄ ¯̄¯AB, ¯̄¯̄¯̄CD

https://dl.doubtnut.com/l/_pDZQ5COhBBBO
https://dl.doubtnut.com/l/_ZioY0b4Rhx5o
https://dl.doubtnut.com/l/_g4CFBkgvmejw
https://dl.doubtnut.com/l/_cOVWb6OnzOkq
https://dl.doubtnut.com/l/_TiDy3LQdc7rV


7. In triangle ABC, prove that

Watch Video Solution

cos. + cos. + cos. = 4 cos. cos. cos.
A

2
B

2
C

2

π − A

4
π − B

4
π − C

4

8. If  are altitudes of a  then show that 

Watch Video Solution

p1, p2, p3 ΔABC

+ + =
1

p1

1

p2

1

p3

1

r

9. If  are altitudes of a  then show that 

Watch Video Solution

P1, P2, P3 ΔABC

+ − =
1

P1

1

P2

1

P3

1

r3

10. If  are altitudes of a  then show that 

W t h Vid S l ti

p1, p2, p3 ΔABC

P1P2P3 = =
(abc)2

8R3

8Δ3

abc

https://dl.doubtnut.com/l/_TiDy3LQdc7rV
https://dl.doubtnut.com/l/_vJU7rE4j50pH
https://dl.doubtnut.com/l/_7y0XTovuZ2ou
https://dl.doubtnut.com/l/_hZbtvzp2bgRh


Watch Video Solution

https://dl.doubtnut.com/l/_hZbtvzp2bgRh

